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1.17 0483
1.26 073
140 058
1.50 046
1.57 036
162 027
165 018
1.67 010
1.68 0.0
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1.57 036
1.50 046
1.40 058
126 073
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Dhttps://www.wolframalpha.com/IZ 79X

WOLFRAMEi# X MATHEMATICA DMRTICES

¥ WolframAlpha
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{ ~J|sin(x)| + \f |cos(x)|, \f [sin(x)| = \f ICOS(x)I]
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(x DFHFE-6.283456.283FTETR)

= 4/ |sin(x)| + 4/ |cos(x)|
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Al
\/1 — |cosB|sin6

T =

ExcelD YA T/\—FZi0E)

x W
05 0 05 0

05950242 0.1 034415927 056590165 0.183872591

0690413 02 (055855585 0405814577 X = rcos@

0690413 03 009424778 040584458 0558555847 ]

0.5950242 04 125663706 018387259 0565901645 y=7rs ing

05 05 157079633 3.0616E-17
05950242 06 1.88495559 -0.1838726
0690413 07 219911486 -04058146 0558555847
0690413 08 251327412 05585558 0405814577
05950242 09 282743339 05659016 0.18B3872591
0.5 1 314159265 -05 612323E-17
043956275 1.1 345575192 -0418049 -0.135832361
041161978 1.2 376991118 -03330074 -0241944038

Sub CycleValues()

Dim i As Integer

Dim values As Variant
Dim duration As Integer
im startTime As Double

041161978 1.3 408407045 -0241944 -0.333007399 'PRER S H ATQES
043956275 14 439822972 -0.1358324 -0.418049021 values = Array(p.2, 0.5, 0.8, 0.5)
05 15 471238898 -9.185E-17 -05
043956275 16 502654825 013583236 -0.418049021 -
041161978 17 534070751 024194404 -0.333007399 TEER DIFE] (7))
041161978 1B 565486678 03330074 -0.241944038 duration = 60
043956275 10 506902604 041804902 -0.135832361 tartTime < Ti
05 2 628318531 05 -122465E-16 startiime = 11im
1 | |
. "0 —T

Fori = 0 To ddration - 1
"AlE A AR E
Range(|Al]").Value = values(i Mod 3)

0.6

1 " 1RFERE
Application.Wait Now + TimeValue("00:00:01")
Next i
End Sub
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